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Resumen—Resuelva correctamente los siguientes problemas.

Figura 1. teorema de varignon

F1 = 100i− 120j + 75k lb

F2 = −200i+ 250j + 100k lb
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F1 = 100i− 120j + 75k lb

RA = 4i+ 0j + 3k

F2 = −200i+ 120j + 100k lb

RB = 4i+ 5j + 3k

RA · F1 i j k

4 0 3 i [(0) (75)− (−120) (3)]+
j [(4) (75)− (100) (3)] + k [(100) (0)− (4) (−120)]
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RA·F1 = i (360)+k (480)

RB · F2 i j k

4 5 3 i [(5) (100)− (250) (3)]+
j [(4) (100)− (−200) (3)] + k [(4) (250)− (−200) (5)]
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RA · F2 =
i (−250) + (1000) j + (2000) k

FB = 30lb

Figura 2. Teorema de varignon

FA =?‘?

FB = 30 sin 60 · 6 · 3
5 · 9 = FA

30 sin 60·6
3
5

= 259,80
9 = 28,86

FA = 28,9


